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CRNA-S-COMA

COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer (QCA) Booklet must be clearly struck off.
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W@Us—A / SECTION—A

1. f=afafaa 3 @ g &1 @ 150 wsal # IW i
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(c)

(d)

(e)

(b)

(c)

(b)

(c)

Sty weRy (TWo o 3fto) T ffim atem ®1 38w it =mEn Fif)

“MBO is a mixed blessing.” Elucidate the statement.

e hifsre for fora R Afa armn, mRw-hi-Uwar srauren @ 9w B

Explain how the matrix structure breaks the unity-of-command concept.
TSl § HagR W Afhed fasivent & woma it TaraTes faa=m fifm)

Critically discuss the impact of personality traits on the behaviour in
organizations.

TiTe Tagra % wafaew® & Tey § ‘Jurelt IurM’ W T |idw ool fafaw)
Write a brief note on ‘systems approach’ in the context of the evolution of
organization theory.

TSI FHTERTeral s & Tgfadl ! §&Y § sy

Briefly explain the main systems of organizational effectiveness.

P T frdbesiae % qed e g €9 A TE R ST wwa 8, $ A 6 st 2 A

T HE W1 39 B H ATAEATHER Jedh hieg |

“The choice between centralization and decentralization cannot be made in
isolation, none is good or bad.” Critically evaluate this statement. 20

M (Tar) o faequ (feaeiv) & wroi = we il @Al § yerusl 6 e
WAl § gur ¥g gee AR

Explain the causes of distortion in perception. Give suggestions for improving
perceptual capabilities of managers in organizations. 10+10=20

Ha & weften B 7 F Y, GTe B @ TeH 9 EH 2

Briefly review how conflict can provide benefits to the organization. 10

v frgra ) gemar A e i fF @ afted e s wEl wsiinia 4@ da §
a1 3 fad =em saws w1 = g

Explain, with the help of the expectancy theory, why a lot of workers are not
motivated on their jobs and do only the minimum necessary to get by. 20

‘eI Gt Aaistt, favarEl, gt aun Al @1 98 YR §, S 6ed % Hesdl gW
aren Ty S ®1 o AT TS @ERfd % @ERcTE T TRRITE SuTEl et faee
HIf)

“Organizational culture is the set of assumptions, beliefs, values and norms
which are shared by an organization’s members.” Explain. Discuss the positive

and negative impacts of organizational culture. 6+7+7=20
Hfthea e 6t wrafea sEwanet 1 e g Hif)
Critically examine the Freudian stages of personality development. 10
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4. (a)

(b)

(c)

frger g wfauifea A9 ¥ e g w1 e qeae el ' e
ot gl a1 HRY seEre g wfaiea feafames A9 Rrera @ fha wew firm 27
Critically evaluate the contingency theory of leadership propounded by Fiedler.

How is this theory different from situational leadership theory propounded by
Paul Hersey and Kenneth Blanchard? 10+10=20

@1 T qEES (S5 U8 Wi%) § [ a1 FTE G-y R F qIaeE A Gud i g 87
39 G994 &I =[AH FA o 38 gaa AR
Despite the complementary and supplementary relationship of line and staff,

why is there a conflict between them? Give sound suggestions to minimize this
conflict. 10+10=20

“ge PR w1 FEied GreTos e # ufedd I wa @ i e Wy
T #1 |aT § qeese

“The implementation of information technology produces change in
organizational structure as their relationship is dynamic.” Explain in brief. 10

@Wus—B / SECTION—B

5. fr=fafad § & v@s &1 @ 150 vkt 7 IW 4T
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(©

(@)

(e)

‘I (TR’ 1 wEEf’ /TRl @ SR T a9 RO’ % N oA % el i
e Hif)

Distinguish ‘transfer’ from ‘promotion’/‘demotion’ and state the purposes of
resorting to ‘transfer’.

360° wfgfe % wR wwf=a sawal i @&y § faa=m Hifg)
Briefly discuss the four integrated components of 360° feedback.

“yftes 1 TfE Ed (HeNER) 7t fEe % faa # R iR 9 @ wiwiEt % fra W) @
Fo I T Hif

“Excessive turnover of labour is neither in the interest of the employer nor in
the interest of the employees.” Explain this statement.

Hreryl sienfie werg % fog steavas smett $i fagsm fifm)

Discuss the essential conditions for congenial industrial relations.

e ey gaeush % INEReEl S wE Hifsg)

State the responsibilities of Industrial Relations Managers.

“AHa wEeE yeeg % Wid g & fafim sl # aftada gen § o ufada i gg i e
ff ST R1” 38 FuA F THIRY
“The approach towards Human Resource Management has undergone

transformation through different stages and this process of transformation is
still going on.” Explain this statement. 20
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(b)

(c)

(b)

(c)

(b)

(c)

rafis el % fioer & wuehar @ (wefd) 6t FifeE 6 e i) awgia 7@ =i

TN ST ¥ S9GT 311 H g i

Discuss the weaknesses of a conciliation machinery in settling industrial

disputes. Suggest suitable measures to make conciliation machinery effective.
10+10=20

U89 ¥ gugmee 5 ¥ i ffewm wfem, sie faemo w anfia @ 3R Sfe smavasdaet @
Frafad )

Explain briefly how the process of job specification is dependent on job
analysis and related to job requirements. 10

“gra gEeEl F e gee % e e qaeE FRisE o gaiten ?17 9 Fu % g b,
e gaeA fEeE 6 mgm & v fifm)
“Human Resource Planning is a prerequisite for effective management of

human resources.” In the light of this statement, analyze the significance of
Human Resource Planning. 20

‘sl Witk STaEt HTH FHETE, HAEE 991 SAgET R §, WY @ WHE §9 ¥ w1 H g
A Fiaa w0 areh a1 Y fafert s, S weff wfen 6 agfea S gur @)
“Recruitment process is often very strenuous, time-consuming and expensive,

as also equally frustrating from the point of view of the organization.” Suggest
the methods which can improve the objectivity of recruitment process. 20

“ura B fa PR agEg efe ey W s el R)7 siefie @ w
VUSRI % WNTE T Fif |

“Rapid industrialization in India is heavily dependent on harmonious
industrial relations.” Explain the impact of globalization on industrial
relations. 10

gt & & il wery i el 9 FHNRE! 1 e whe Hifs)

Critically examine the strengths and weaknesses of industrial relations in
public sector. 10+10=20

WA %9 "l war ¥g A H WE AT UF A AW d9 % Afwr H s
frefia ifsm)

State the criteria for the recognition of Trade Unions in India. Also point out

the rights of a recognized Trade Union. 10+10=20

“vra & angfees dRarst it awa 7€ @ ) g Fifig) angfes dRarsh i FEfEy
1 g S *g gemal i faae fifm)
“Collective bargaining in India has not been very successful.” Comment.

Discuss the suggestions to be made to make the functioning of collective
bargaining effective. 10

* Kk
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